C11 - 5.4 - Solving Radical Equations/Restrictions Notes

Vx + 2=4 Square Vvx+2 =4 Check Answer: x+2=>0 Restrictions:
(Vx+2)" = (4)? Both V14 +2 =4 —2_ =2 Setunderneath
x+2=16 sides Vie =4 root > 0 and

(Brackets) 4 =4 LHS=RHS solve.
\/x+2+11=41 Isolate  Vx+3=+v2x+5 Vx+3-x—-1=0
-1 — 2 2
— ROt (Va¥3)" = (Vax +5) Vit3=x+1
x+2=3 2
2 x+3=2x+5 (Vx+3)" = (x + 1)?
(Vx+2) =3 -x  —x x+3=(@+1Dx+1)
x+2=9 3=x+5 x+3=x?+2x+1
— —2\/ -5 —\/ 0=x®+x—-2
0=(x+2)(x—1)
x+2= x—=1=0
Vit2+1=4 Vx+3=vV2x+5 @ \/
ViTo4+1=4 V=2+3=2(-2)+5
\/§+1:4 \/I:\/T Vvx+3=x+1 Vx+3=x+1
3+1=4 V=2+3=-2+41 V1+3=1+1
4 =14 x+3=>0 2x+5=0 1= -1 2=2
x+2=0 x+320
Square Both Sides First Divide First
EE— JX = =5 Vx+99 = -5
2Jx+3=6 2Wx+3=6 No Solution >< No Solution
2
(ZVx+3) = (6)* 2 x+3=§ A Square/Even Root Can't Equal a Negative
4(x+3) =36 2 2
4(x+3) 36 Vx+3=3
i VxT3)’ = 3)2 VrE1=yx+1 A0
x+3=9 x+3=9 (Vx+1) = x+1)? @
-3 —\/ x+1=@x+HEx+1)
\/ x+l=x+Vx+/x+1 @
0 =2+x More
Vx—=5—-+vJx—-8=1 (0)? = (2vx)? Restrictive
0=4x
Vx—-5=+vx—-8+1 \/
2 2
(Vx=5) =(Vx—8+1) \/_
x—5=(\/x—8+1)(\/x—8+1) \/izﬁ—i_i
x-5=x—-8+2Vx-8+1 0+1;10+
1=+vx—-8
2
(1% =(Vx—8)
l1=x—-8 2 2
2x+3)=(x+7) Square
\/(2x+3)2—\/(x+7)2 Root
Both
Vx—-5—-+vVx—-8=1 x—82=0 2x+3—x+</ Sicc)ies
Vo-5-V9-8=1
Va - ‘q . N > 0 (2x +3)2 = (x + 7)?
24 +3) = (4) +7)°
121 =121
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